ﬁ_uﬁ'aﬁu@nwl | ) [Wgﬁawaﬂﬁmns

Total No. of Questions : 19] ‘ [ Total No. of Printed Pages: 15 -

2311212

S_ubject:Sci_ence' o
9 : 3 wy0e] S -[%;75
Time : 3 Hours | o [ Maximum Marks : 75
0 whverafary,
(i) mmmﬁﬁr@ma ﬁuﬁ‘m—w’ﬁ@ﬁmﬁama‘m—a’
| @frﬁwﬁiﬁfm@‘m—y’sﬁamwﬁaaﬂmumm
WU s Freifg
(iii) mmzmwaﬁaamam%lmmwzmﬁufﬁa%
. waﬁaﬁmwmwm%n
(iv) mmshswmm’%lmmmswaﬁﬁa%w
| ﬁaﬁmﬁxﬁmsow‘%i
2311212

W



CZITLET

“SpIOM O€ ST T propy ‘e
7 sa11red uopsanb q:;eg -pd &) Jomsue 10Ys KA are | 0-1 T ON uopsén() (@g)
| ){.IBIII ouo A11eo uonsanb yoed 'uur_riibo |
o) qawm se ), Uonddg pue syue[q a'q;'u; I[Q_ se g, Uonods ‘suogsaﬁb
- oor0yo odnjnui se, v, UoNodS sey qo;qh ‘adfy éA}109[q0 SI T ON uopsénb ().
_- K10sndwiod 218 SEONsanb [‘N (1)
: | = suoyanusul '

lmww@mw (x)

I'gmmm@wgm&s}@mmm (1ma)
|§M05L@%W¢m
1g.wm9mligmM@meL§hmmm' (11A)
| | | 1 22012 001 Lirlph Boli bipialte Lo
mngwmsmﬁﬂn@mw@uﬁw@u&ﬂ (!-A).
| 1 320l 7 lhlfe Bolk bkl Io
Ml%ﬁ@#@ﬁebhhﬁﬁ&@ﬁl%h&ﬁ@&&p@ﬂpﬁﬂ%h&ﬂ ()

i

(@



@)
g IE'{ 7 (iv)  Question No; 8 to 13 are short 'ah_sWer type. Each questionr ca.rrieé 3
marks. Word limitis 50 wbrds

(V). Questlon No 14 and 15 are long answer type. Each questlon carries 4 -
[T B?R. marks Word limitis 75 words.
(Vi) Question No. 16 and 17 are long answer type Each question carries 5
S marks. Word limitis 100 words |
o (vii) Question No. 18 and 19 are very long answer type questions. Each

question carries 6 marks. Word limit s 150 words,

(viii) QuestionNo. 14to 19 each question has an internal choice.

(ix) Drawneatlabelled diagram as per requirement.

| (Eug-a) | .

m—1 (a?) a?gﬁrsam (E‘gﬁﬁr«ﬁ‘q) . [1%5=5]
o H@WWWW- '
| (1) ﬁmﬁﬁaﬁqq’rmmﬁﬁ%—
| (Cﬂ)"’ﬁ?{
L _ (@) e
! carries 2 () e
(R) TS

plechoice

match the

2311212 o - | ' o . PTO.



W
(i mﬁwmm—, *'
(31) et |
@
| (W) T
() WM
G mmm@wﬁzm@a@mg -
(37) T T g > forear
(&) mﬁﬁé&ﬁwﬂ
(@) mETE - e
- ® ?ﬂ?ﬁﬁ%ﬁﬁﬁﬁwmw% |
(v) qEEwEEE- |
o
C@e
| _(“v'r)wrl |

‘(T‘I)@HBI

2311212




- | 5
W) Qe
em
(F)ym |
() foraedt
@ am1
(Section - A)

A @ Select the right _ariswer -

(i)  Whichof tﬁ@ following is notan Sl unit -

(i)

'-'(d) - Second.

(@) Meter \
(b) Pound

(c) Kilogram .

-Moving in the orbits of an atom -

(a)  Proton
(b)  Neutrons
(c) -‘Electrons |

(d)  Photon.

2311212
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(6)

(iii) Foran object 'moving a long a-straight line without changing its

(iv)

)

(d Eight

directionthe -

(a)  Distancetravelled> diSplaccment :

(b)  Distance travelled <displacement

(c) - Distancetravelled= displacement

(d) Distanceis nbt zero, but displacement is zero.

Fundamental units number are -

'(a) Five
() Six
(©) Seven

Abiotjg’Component s -

(a) Soii.'

(®) Néem"

(c) = Butterfly
| (‘d)." Mango.

2311212




In ﬁmmﬂ‘fa&qﬁhﬁﬁmé : T [1x5=5]

(I

(i) TERIR S Tl Y~ et
R iDL T L — -

FEt oty

(Section - B) :
Fillin the blanks:
6 I disease is caused by less secratiﬁn of Insulin.
(i) A microphone conlverts sound energy into S v
(111) A(:urrent-carrying cbnductor CAITIES A..ccvirnenraenne field around it.
(iv) Apair of similar Chrdmosome is_called S eevreerirennans chromosome.

2 JE A vaccine should be given after birth.

© 2311212

PT.0.



@

: _(’GU'S'—'H).

(11 aﬁmmﬁmﬁm— - _' - [1x5=5]
(31) | - ()
@) mmmﬁ'qaqa (&) TR REET

(if) :crrqnquﬁmm | '(_a).mzﬁs‘lﬁ'—mﬁﬁz
(i) .ﬁm@amwﬁmm‘ (%) et |

(i) mmmm o ® 'm%n_ |

W) ﬁﬁﬁﬁ%ﬁﬁiﬁ'aﬁm (3) whamra

mrljemam

(Section - C)
(I 'Match the columns
@A) L ®

(1) Powerhouse of the cell (a) Chlorofluoro Carbon |

(i) Dr.M. S.SWaminétﬁaﬂ | .(b) Sodlum Hydrogen Carbonate
(i) Chemicalnameof the  (c) Mitochondria
o Baking dea o

(iv) Depletion of Ozone layer (d) Decreases

(v) Atomicsize goingfrom () Green revolution

left to right in a period

2311212




[1x5=5]

m

_arbonate

(9)

Frder - mmzmaﬁaﬁmgﬁﬂam%:mmwz saa:ﬁafﬁa%n |
maﬁa&mmwﬂmsom%n

Instruction : Question No. 2 to 7 are very sh'ort answer 'tjvpe. Each question carries 2

marks. Word limit of answer is 30 words.

I & < Aol R o R O W e R [2]

U2
Why does a fastmoving carslow down when its engine is switched off 7

-3 mmﬁmwm%? | [2]1
What do you mean by acceleration due to gravity ?

-4 Tourg vet A s ferfan ) C O [1x2=2]
Give any twouses of abimetallic strip.

WH-5  ST7oey R s ol F s s 2 o [1+1=2]

What are the differences betw(_een-'Longitudigal and Transverse sound

waves ?

2311212 o ' ' ~ PTO.



(10) -

 WeT-6 awﬁmWwﬁwml(m+W) [1+1=2]

Intwo sentences ,justify the term phetosynthems (Photo + synthe31s)

Te-7 ﬁi%ﬁlnﬁﬁiﬁmaﬁﬁ%? | ' | [2]

Why diamond has high melting peint 7

%
ﬁim mmsﬂ 13 ma@ﬂﬂam%lmmws maﬁ?&r%l
waﬁaﬁmmﬁm som%i |
" Instruction : Question No. 8 to 13 are short answer type. Each question carries 3
marks. Word limitis 50 words.
Y-8 TEM ST A Q) o fata | | - [13+13=3] e
Write any two differences between mass and amount of a substance.
w9 - Frfatea i % Tt g fafae - N [1x3=3]
() HRETH 3
(i) AP RRES
(i) SMEmEERe |
2311212 | 21121




(1)

Write chénﬁical formula of the following compounds -
.(i) -_ Copper Sulphate

(i) Aluminium Fluoride

(iii) ,: Ammonium Sulphate. |

WE-10 ﬁég:wﬁ%mm@ﬁuﬁﬁmﬁamuﬁnm%r | [%xé_%s] -

Name any six device in which electric-motors are used.

weT-11 Wawqﬁ%mﬁ\ﬁﬁﬁ%ﬁ?ﬁ?ﬁﬂaﬁtw: " [1x3=3]

Write any three differences between saturated and unsaturated compounds ?

m—umﬁaﬁwé?wmﬁﬁfwa&aﬁ%mml - [1+2=3]

What is an ecosystem ? Name the various components of an ecosystem. -

W13 Fre-Tres ger ¥ R -0 P o Wehe & 2 TTTeh Hie e 3 T
AFTAD RN E ? | - [13+11=3]
What can be done for removing plant destroying insects ? What harm can be

- caused by chemical insécticides ?

| 2311212 : | ' | PTO.



| R L
v~y HHE 147 15 i svria o 1 Wi P O 4, 30 STt B
‘savaﬁﬁﬂﬁaﬁwvaﬁavﬁﬂrisgﬁa?van:ﬁﬁaFﬁﬁsaqﬁhqwqéﬂ
Insﬁucﬁon Qdestion No. 14 and 15 are lon;;r aﬁswer type. Eaéh que&tion ¢arries 4

marks. Word limit is 75 words. Each question has internal option.

m—14'®mmmw% 7wuﬂﬁ-mwwﬁsﬁmﬂw%ah

What is a balanced chemical equation ? Write three characteristics of a

balanced chemical equation.

(0R)
aﬁ_—sﬁ’mmmmﬁw%? ﬁ@?ﬁﬁmﬁwmﬁ@%w

uﬁaﬂﬂmmﬁﬁm

taken place in the theory during the last two centuries ?

| afveemfafan) | - : T 3] _'

What is the atomic théory proposed by John Daltons ? What changes have

..2311212
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mafea &1

carries 4

pn.

mﬁ%?ﬂ?’_

[1+3=4]

tics of a

Himaa|

nges have

(13)

15 Waﬁmﬁmaﬁﬁﬁﬂ%mﬁag@mw% 2(=E4) [ x4 4]

What are the main points of Oparm s theory of Origin of life ? (Any 4)
( 3rerar)
(OR)

a-gifdar R s Wi e foafea |

Write a short note on Neo-Darwinism.

fdwr - mm 16717 a?dawﬁwmé‘lmmws a;a;anaﬁw?:m
| aﬁaﬁ:mmmmomeé'faﬂaﬁaﬁmﬂqw?: |

| Instruction : Question No. 16 and 17 are long answer type, Each question carries 5 _

marks. Word limitis 100 words. Each questmn has mtemal optwn.

w16 TR T ? mwmﬁmqaﬁwaﬂs‘ahwmi

| | [1+1+3 s]
What is Baking Soda ? Write ItS chemical formula and any three uses.

(arezar)
" (O0R)

i e . 2 g T g R d e R

Whatis Washi_hg Soda ? Write its chemical formula and any three uses.

2311212 PT.0.
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(wm
(0R)

a9 e S A wm%%%mﬁma ?

What is rainwater harvesting ? How Is it beneficia] for everyday life ?

R wrrEE 187 10 Wﬁaﬁaﬁﬁamé"m@a;mvw 3 AT )
| ST T SR vrae iay 150 wé‘:aﬂaﬁwi%mﬁqwqé‘/ -
. Instruction * Question No, 18 and '19 are very long answer Bpe questions. Eqch

question carries 6 marks, Word limit is 15¢ words. Each qéestion has

internal option,

W18 maswmmaawﬁqmammakmﬁmmmw
ot | [3+3-6]

Name any three non-renewable sources of energy and give at least one

advantage of each. -

311212




(15}
( 3ot
(0R)
| aﬁmmmﬁw_aﬁm%ﬁimwmﬂwm% ? feafia
(@) | SRR B ]
‘What are the steps thaf you can should take for sav'ing energy at hqme orin the
office? | | - |
w919 wwwmmmﬁam (FemiF)  [3+3=6]
Draw aneatand labelléd diagram pf human.respiratory sysfem. (any 6 name)
- (rmT)
(0R)
S e o P T A o T P T 2
' Drgl\%/ a neat and lgl;elled diagram of Neph‘roﬁ 'aﬁd label only the part'where _

filtration occurs.
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